
ñÑ**WiZŠDQgŠz-Eg;
2016 ZJyX  ZÚ÷  8ZÝe~)ÛR,‚b(

PhD (Computer Science) Entrance Test - 2016

Question paper cum Answer script 6,pÎZÑ]ì�Z!Òn   

:Šz] z‰Ü
 75 �Z]:

ñÑ**WiZŠDQgŠz-Eg;
2016 ZJyX  ZÚ÷  8ZÝe~)ÛR,‚b(

PhD (Computer Science) Entrance Test - 2016

Question paper cum Answer script 6,pÎZÑ]ì�Z!Òn   

QQQQyyyyzzzzZZZZggggzzzzVVVVÆÆÆÆaaaa@@@@ZZZZcccc****]]]]

Zz6,�ÛZëÅˆ(6,ZyzZgÜsZC;w]�‘XZkÆ´z{Âa~ËÌÔ6,;w]�ZzgZC**x:KóZ¤/ZyzZgäË .1

ZzgÔ6,ZC;w]�c***x–ƒÂZk»6,pY™7YñÇX

,]»tÂ^6,<îF0ÎZÑ]Zzg�Z!Òn6,ŒìXÃð´u{�Z!Òn7ìXZ¤/ZkÂa~,]ÁƒVc*ZkÅ (12) .2

F,KM~ÃðtƒÂ�Z!*]™Ð¬„ôZy»gÐZÐps™zZBX

(A) (B) �Šw 4 czèÎZÑ]�XCÙÎZwÆn 50 ~] (Part A) tÂŠ̂z”V)zZzwZzgzŠzx(6,ŒìXzZzw .3

�Z!Òn~ZLÉ™Š{�Z[ÆŠZ],{Ã�ZÙX OMR �Z!*]Šb‰�XÎZwÆ9�Z[»ZN[ÙXQ (C) (D) 

~OMR �Z!Òn~9�Z[Š¶6,ŠbYNÐXZ¤/ZkÂa~ZyzZgä¶KyÎc*ƒZzg OMR ZyzZgÃ�Z]Üs .4

ŠZ],{Ã�Z:HƒÂZ+ßg]~ZyzZgÃÃð�7AÇX

ÎZÑ]Æ�Z!*]ZgŠz~Š¶ƒVÐXZy (5) ÎZÑ]Šb‰�XX~ÐZyzZgÃ0*õ 8 ~] (Part B) zŠzx .5

S~Š,X 20 �Z!*]Æa{à,]Šb‰�XCÙÎZw»�Z[

�Z!ÒnÆ‚B́ôZy»gÆjZá™ŠØX OMR ZJy;wÐgzZ�ÐIZkÂaÃ .6
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((((Part  A)))) ZZZZzzzzwwww  8888~~~~îîîî OOOO
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4ìX scheduling policy W6,|ÄÆaÃyÏ Time sharing        .1

Elevator (B) Shortest Job First (A)

First Come First Serve  (D) Round Robin (C) 

ÐH%ZŠì? FAST .2

Functional Application Specification Technique (A)

Fast Application Specification Technique (B)

Facilitated Application Specification Technique (C)

None of the Above (D)

 

~7�X  IPv6 ÅÃyÏS:] IPv4 .3

Header checksum (B) Fragmentation  (A) 

None of the Above  (D) Options  (C)

J-Wä~�z‰ÜŠg»g�HB@*ìX client J-YäZzgQzZ: serverÐclient Ã packet Zq- .4

RTT (B) STT  (A) 

None of the Above  (D) PTT  (C)

ÅzŸs#HƒÏX component A ~FAN-IN .5

(A) Number of components that can call or pass control to component A.

(B) Number of components that are called by component A.

(C) Number of components related to component A.

(D) Number of components dependent on component A.
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»%ì��: systematic controlling Zq-Software Configuration Management .6

A) the changes due to the evolution of work products as the project proceeds.

B) the changes due to defects (bugs) being found and then fixed.

C) the changes due to requirement changes

D) all of the above

ÐH%ZŠìX declaration  qgzfs .7

(A) ptr is an array of pointers of 10 integers.

(B) ptr is a pointer to an array of 10 integers.

(C) ptr is an array of 10 integers.

(D) none of the above.

™ä»9§iHìX round-off ~integer �Ã floating point  Zq- .8

y = int (x + 0.5) (B) y = (int) (x + 0.5)  (A) 

y = (int) ((int)x + 0.5)  (D) y = (int) x + 0.5  (C)

 Æ9ƒäÆaZEwHY@*ìX recursive function ÃZÒZq- ________ .9

Communitivity (B)  Diagonalization (A)

Matrix Multiplication  (D)  Mathematical Induction (C)

ÃƒÐ¬(,~r3š‹ð EVÆn¯c*ŠHåXZÌqgzfs~ÐÃyÐ document standards Æn EDI ~1970 .10

ZŠZg}Åf)ŠZg~£gZ]ÃD¯D�X

IEEE (D) ITU-T (C) ANSI (B)  ISO   (A)

»ƒZ,Ò!Ã:g™äÆn¢zg]ƒÏX 512 bytes block-size T~ 1.3Gb disk Šg»gƒÏZ¤/Zq- space X .11

256.6 KB (D) 266.2 KB (C) 83.6 KB (B) 332.8 KB   (A)

.12

Fair Preemptive Scheduling (B) Affinity Scheduling  (A) 

Highest Penalty Ratio Next  (D) Hand Shaking  (C)

.13

DOC type procedure (B)  HTML page (A)

Stored procedure  (D)  Style sheet (C)

 

.14

(A) Allocation of memory

(B) Frees the memory previously allocated

(C) Initialization of memory easily   
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(D) Allocation of memory and frees the memory previously allocated.

.15

(A) One defined by C++ and the other not defined by C.

(B) One defined by C and one specific to C++

(C) Both are specific to C++

(D) Both of them are improvements of C

.16

15.36 Mbps (B)  2.4 Mbps (A)

1536 Mbps  (D)  153.6 Mbps (C)

.17

error correction (B)  error detection (A)

slowing down the Communication  (D)  synchronization (C)

fs~Š~ˆ&ãCŠ~̧Z2� .18

I. Squash and Stretch

           II. Slow-in and Slow-out

           III. To stage the action properly

Zy̧Z2Åßg]~ÑÍ~ƒD�

Morphing (B) Rendering (A)

All the above  (D)  Animation (C)

!*g}Šg„7ì  O W6,|Ä~¿ UNIX Ãy‚Òy .19

(A) Process O is called init process..

(B) Process O is not created by fork system call.

(C) After forking process 1, process O becomes swapper process.

(D) Process O is a special process created when system boots.

.20

Hardware abstraction layer (B)  NTFS file system (A)

Process Manager  (D)  Microkernel (C)

.21

Preempt resource (B)  Roll back (A)

Kill one of the processes  (D)  Lock one of the processes (C)

4

Computer Science/E.T/2016



.22

16 (D) 8 (C) 4 (B)  2   (A)

.23

Secular Enterprise for Transaction (B) Secure Electronic Transaction   (A)

Secured Electronic Termination (D)  Security Electronic Transmission (C)

.24

160 ns (D) 200 ns (C) 69 ns (B)  91 ns   (A)

.25

A) The array elements form a heap.

B) Elements in each half of the array are sorted amongst themselves.

C) Elements in the first half of the array are less than or equal to elements in second half of the array.

D) All of the above

.26

print "computer" 0 times (B) print "computer" 87 times (A)

print "computer" infinite times (D)  print "computer" 1 times      (C)

.27

Values of the elements of the array (B)  Address of the array (A)

Number of elements of the array (D) Base address of the array       (C)

.28

no key ordered (B)  primary key is declared and ordered (A)

there is no key and no order (D) foreign key ordered      (C)

.29

Physical level data hiding (B)  Conceptual level data hiding (A)

Local level data hiding (D) External level data hiding      (C)

.30

Frames (B)  Semantic Networks (A)

All of these (D) Rules (C)

.31

Goal stack planning (B) Best first search (A)

Min-max search (D) Alpha-beta pruning procedure (C)
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.32

SR flip-flop (B) T flip-flop (A)

None of the above (D) Master-slave JK flip-flop (C)

.33

Indexed addressing (B) Direct addressing (A)

Register Indirect addressing (D) Register addressing (C)

.34

one Megabyte (B) one Terabyte (A)

8 Terabytes (D) 8 Megabytes (C)

.35

Loose source routing (B) Strict source routing (A)

All of the above (D) time stamp (C)

.36

16 (D) 15 (C) 8 (B)  4   (A)

.37

directed graph (D) Query Tree (C) graph (B)  B-Tree   (A)

.38

A) Transaction management component of DBMS.

B) Application Programmer.

C) Concurrency control component of DBMS.

D) Recovery management component of DBMS

.39

(*this).x (D) *(this.x) (C) *this.x (B)  this.x   (A)

HƒÇX output qgzfs6,z¤/Zx» .40

int x=9;

x = ++2;

printf("%d",x);
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Error (D) 10 (C) 12 (B)  11   (A)

.41

10011111 (B)  11100011 (A)

 11110001 (D)  11101011 (B)

.42

No pre-emption (B)  hold and wait (A)

 starvation (D)  circular wait (B)

Ãqgz Deadlock .43

Banker's algorithm (B) Beladays algorithm (A)

Bredford algorithm (D)  Bakers algorithm (C)

7ìX escape sequence qgzfs~Ãy‚ .44

\p (D) \L (C) \r (B) \n   (A)

qgzfs~Ãy‚Òy9ìX .45

A) Web cache doesn't has its own disk space

B) Web cache can act both like server and client

C) Web cache might reduce the response time

D) Web cache contains copies of recently requested objects

Hƒ@*ìX Disjoint less constraint .46

A) It requires that an entity belongs to no more than one level entity set.

B) The same entity may belong to more than one level.

C) The database must contain an unmatched foreign key value.

D) An entity can be joined with another entity in the same level entity set.

ÃyÐqgzfs~ÐMìX Fifth Normal Form .47

Multivalued dependency (B) Functional dependency (A)

Domain-key (D) Join dependency (C)

.48

Update anomaly (B) Lost update problem. (A)

Dirty read (D) Unrepeatable read (C)

.49

candidate key (B) superkey (A)

not a key (D) primary key (C)

.50
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A) Operationally, if Y is deleted, so is X

B) existence is dependent on Y.

C) Operationally, if X is deleted, so is Y.

D) Operationally, if X is deleted, & remains the same.

((((Part  B zzzzŠŠŠŠzzzzxxxx))))

(5x5=25) ((((����ZZZZ]]]]––––����XXXX 5 ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]££££[[[[����XXXXCCCCÙÙÙÙÎÎÎÎZZZZwwwwÆÆÆÆaaaa0000****õõõõ)))) (5) ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐ0000****õõõõ

ÐÄZÖp‡ìGYMhìZ¤/ 'DAUGHTER' Â .1

å‚B‚BƒVX vowels (i)

£â]6,ƒVX  even Üs  vowels (ii)

�QÃ7,kƒZzgZq-{mÂÃ̂l™}X ÉÀŸ/õGX C-Program Zq- .2

ÅzŸs#ÙX algorithm Ã»g™äÆ Dependency graph .3

Å¢zgc*]�X P3 Zzg P2ÔP1 -.$z‚b�Xqgzfs&™gs¿ 10 Zq-ÄÆ0*k .4

P1      P2     P3

8        7        5  ic*Š{Ðic*Š{¢zgc*]
   3       1         3      allocation ñ�Š{
 5       6         2  !*¹

"5Ò54ø
EGGEÅ¢zgc*]

 1       0         0  5¯ðˆŠgpZ„
ÅŠgpZ„Š~YñÏc*7»çÙX P1 ÃZEw™Dƒñ7–gc*„ôpgìZzg Banker's Algorithm     

ÐH%ZŠìXzŸs#ÙX Trivial file transfer protocol (a) .5

ÆŠzgZyYVƒ@*ìX mail transfer »ZEw Gateways (b) 

ƒC�ÔHqÑ]Zzg¾ÑÆn bidirectional ~ DMA controller Zq- read and write control lines YV .6

ÆnZEwHY@*ìX input ZyÃ
ÅÙ|#ZzgŠz!*g{ZEw™äÆnŠzZë§hV6,c™}X free memory in a heap .7

�ÛtÒyÙX?  ÆŠgxy software reliability Zzg hardware ÅzŸs#Ù? Software Reliability    (A) .8

5000 Zzg 0 � integer value Zq- input ™@*ìT» compute Ã square root �ÛnÙ�Zq-6,z¤/Zx      (B)   

»ZEw™D boundary value analysis »çÙZzg equivalence class test cases ÆŠgxy�X
»çÙ? test cases ƒ}
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